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1) Thematic Apperception Test was designed by ./ faug-smreaiy= qﬁ&rUT (aﬁﬁ'éﬁ
TRRAURF OW) __ GRT Ui {3 T ATl

1. Eysenck and Allport / GTT_SC@IW 3R 3fTeae

2. Galton and Kretchemer / lTeCH 3ﬁ? HIR

3. Jung and Sheldon / ﬂ"T 3R Qe
4, Murray and Morgan / T 3R A

Correct Answer :-

« Murray and Morgan / W3R AT

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You
referred this boy to see an educational psychologist for assessment. The education psychologist
sends a report to you and you need to explain the findings to his mother. His strength is MOST
likely found in which of the following areas?

/ 31U U dTefaihedd &1 7 9T & d01 1 3lifewd I NfSd g1 &1 W ATl
MU 59 dTel B! 3fipd- &P (¢ T AUfered AP Bl @ & forg
Vo1 1 AagfAe 3mus) v Ruid Werar g 3R 3Musd! 39H 3 ard
oY 39 9= &1 AT B GHSH BT ATTADAT &1 ITP! dred, Fufefad A
4 {59 &7 § g1 &1 "aifie JHTar g2

1. Oral presentation skills / L IRC L H%gl?l PHIR

2. Verbal concept formation/ RIS GRS

3. Block design/ Siidp [SIT2H

4. Abstract thinking/ 37 9

Correct Answer :-
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« Block design/ Al %\sﬂ‘id

3) Gender is determined while sex is determined. /ﬁ‘i‘T

Srdfuiagsaesefrds  wudRuiRagiars

1. Socially, Culturally / gHITS ,Hi@l?ld)

2. Biologically, Socially / SIGEE ,{-IIHIITTIOP

3. Biologically, Environmentally /@W,Wﬁ?ﬁ@
4. Culturally, Biologically /9Rpfa® Sifaw

Correct Answer :-

o N

« Culturally, Biologically /IR&HIdd ,SifdP

4) A set of rules that helps us to derive meaning is known as: / o &1 Udh

e o g4 orf e o Ueg Hdr 8, I & U | SIHT S\ §:
1. Sentences / dIdq
2. Phonemes / 1&g

3. Words / R[eq
4, Semantics / Oiafes

Correct Answer :-

. Semantics / 918fced

5) Trisha is an eight-year old girl who confidently performs arithmetic tasks
that involve adding or subtracting zero from a number. According to Piaget,
which cognitive ability enables Trisha in understanding the concept?/ ram Udh

3o qUIT ASHI B, S STHIAYTT T B0 T Bl & forad T
ST | Y B ST AT U1 M g1 FOrams & SaR, i it
TFHETHD &1 B2 ) YR A & HaH I 82

1. Decenter/ WUT

2. Conservation/ &0

3. Logical reasoning/ SIEEE] (Q1Tlr\\5Id?C1 IS

4. Reversibility/ [aTddT
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Correct Answer :-

« Logical reasoning/ GIEEGI GUSEZEISIER )

6) By three years, the child is able to speak kG CL] ddb, ddT

Sie # G giaT g

1. Syllables / &R

2. Grammatically complete words / TTHRIVID T g EUTW
3. Words / Req

4. Functionally complete words / PRIHD U I g:Uf Ao

Correct Answer :-

. Functionally complete words / HATHD ¥U E[Uf e

7) According to Abraham Maslow, is the summit of human motivation.

/ SISTE UG & SR, HIFd URUN B URTHTET B
1. Safety need / GG BT TG hl

2. Love and belonging need / J&Gdl Td HE B Ta=gDHdl

3. Need for Self-actualisation / Gﬂ?q-ﬁl@ CARSICEUE I

4. Esteem need / JHTq ARSI EECE]

Correct Answer :-

. Need for Self-actualisation / 3TH-Rifg DI SMaIHAT

8) What type of memory processing involves focusing on the superficial
characteristics of an object? / fH UHR 1 T U=EHIOT # foredt a¥yq 4|
Adg! faRivar W eF $iea s w52

1. Deep level processing / TTgRT ¥R I

2. Partial processing / 3R e

3. Elaborative processing / ﬁﬁﬁ g1

4. Shallow level processing / SYUTT TR JATYT

Correct Answer :~-
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. Shallow level processing / 3YUdT TR JATYT

9) What principle of learning is observed when a child does well in an exam
because he was promised a new phone? / ST w1 H 14 91 Rigia Uféra Srar
8 o9 g1 forelt wdien ¥ ors1 UeRI v § Hife S TP ¢ BIH &1 aral
forar T yr?

1. Negative reinforcement / TBRIHD JAac

2. Negative punishment / AP RIHDP qUS

3. Positive punishment / HPRIHD qUsS

4. Positive reinforcement / HPIRIHD gﬂGTCIﬂ

Correct Answer :-

« Positive reinforcement / P RIHD ';i"IGT Nk

10) What is the unit of heredity? / STIAIRTPdl DI FHTE FIT &2

1. Zygote / YIH-Y

2. Gene / SiIF

3. Fertilized cell / IS ohliRrehT
4. Chromosome / ShIEIY

Correct Answer :-

. Gene/\_rﬂq

11) A child does his chores because he will be rewarded with a chocolate if he
does. What is the term used to describe the chocolate? / Udh dT 3 HTH
Hdl 8 TP 3R I8 HI1 8 a1 I Albde | [REpd fpT SITe|
Aiwde BT g B & e 5w 2rsg &1 IuaiT fran S 82

1. Operant conditioner / fSPATUYd S

2. Punishing stimulus / g®pR dE'?IqOb

3. Reinforcer / UdcIdh

4, Neutral stimulus / dCR[ '3 E?I U
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Correct Answer :-

. Reinforcer / Ydddh

12) Trail and error method was put forth by: / Ydd dYT Z’% faftr g9 gr

yforarfed &1 71E:

1. Thorndike / YT STSh
2. Kohler / IETR

3. Piaget / BRI

4. Pavlov / UTddId

Correct Answer :-

. Thorndike / YTHSTSH

13) A student who completes tasks to earn marks is motivated by:/ T ST 1|

3 3ifofd B & forg Hrf gr1 FRat 7, 98 ¥ URA g 3
1. Knowing needs/ AR H ST Bl ST

2. Intrinsic factors/ 3{{dR® HRD

3. Extrinsic factors/ Eﬂ?ﬁ hRh

4. Mastery goals/ HEIRd <1&d

Correct Answer :-

. Extrinsic factors/ an%'ﬁ hRh

14) Through classical conditioning, a neutral stimulus becomes a/an

R T (FaTRied HSIRIT) & HTEH 4, wa-mﬁ-—ra?aw

TH CRESIGIES

1. Unconditioned Response / 3 eId Sfehar

2. Unconditioned stimulus / 3BT 3& U
3. Conditioned stimulus / W REALED
4. Conditioned Response / U dll Sffhar

Correct Answer :-
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« Conditioned stimulus / UTJp SIRCEALC?

15) A continuous loud noise is avoided by closing the door. This is an example of

./ oaTS P ¢ He AR 3 arelt do SfTarel o 591 a1 81 98
1 TS IaTERVI 5|

1. Negative reinforcement / TP RIHD Y- Sa

2. Negative punishment / AP RIHD qUS

3. Positive punishment / HPRIHDP qUS

4. Positive reinforcement / P RIHD Y- GT GE&|

Correct Answer :-

« Negative reinforcement / TPRIHD Lj;'lé NGl

16) Several tissues coordinate to give rise to a system. This is known as ./

P SdP, TH YU B S P R TTag FRd e 15q_ FUH
SET ST 2

1. Continuity / IGEGEG]]

2. Integration / WUT
3. Specificity / fa=yar

4, Differentiation / ﬁﬂﬂ_'f

Correct Answer :-

« Integration / W

17) Which theory integrates principles explored by chaos, network, and
complexity and self-organisation theories? / PI-I1 g SRTe®ar , dca®
3R SIfeerar ue ea-TTe Rigidl gRT Tt T Rigidl 3t tdhigpd Sl
82

1. Cognitivism / I3
2. Connectivism / ﬂzn\_ﬂ:lﬂ'l_c:
3. Behaviourism / dgRdlq
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4. Humanism / HIHddldIg

Correct Answer :-

« Connectivism / WFI:I—OIE

18) Which of the following is not a teaching skill in inclusive education? /

e o 3 o= Juraxi Rien & v Rigor oizra =8 82
1. Formative / HA0THA®

2. Achievement / ST

3. Summative / D

4. Performance / TGRIH

Correct Answer :-

. Formative / ﬁﬂfUW

19) Which of the following types of parenting is least likely to benefit a child’s

development? / FFafafed d 9§ f59 yeR & Uaa-uivor 3 9= & f9era A
ATH B BT HHTTAT T $H §2

1. Permissive / SJHIG®H

2. Uninvolved / 38 (HTGITHSD T ﬁ:[\_{l?:TEGﬂ‘)

3. Authoritarian / ﬂ?ﬂaﬁ
4. Authoritative / 3{TSRIND

Correct Answer :-

« Uninvolved / 3{HG (HIGATHD =Y @:[TZ:ETECHD

20) 'Which of the following steps should be taken in order to develop creativity

in students?/@lﬁﬁﬁﬂmmwa;mmﬁﬁﬁq
1 e ISTIT ST A1igq?

1. The teacher has to give freedom to respond. / 218 &1 ufafehar ¢4 & fog
T &1 =Ry
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2. The teacher should deliver lectures on the importance of creativity. / fRre1eb ol
THB N & HEd R URAM &l Mg Ul

3. Students should be given opportunities to ask questions. / CEICIRES! qzﬁl &

forw srgeR T =IlRUl

4. Teacher himself should be creative. / TRI&/H P! WG I T"ATHSD E?I"II EI’I%QI

Correct Answer :-

« The teacher has to give freedom to respond. / fR1ereh o1 fdfehar ¢ & ferg
AT & AT

21) Which is the final stage of Piaget’s theory of cognitive development? / ILLIE]

& U e & Rigia 91 siftw s @ 32
1. Formal operation stage / =N Tighar Sraw

2. Pre-operational stage / Qﬁ-ﬁw SHAHYT

3. Concrete operation stage / H\?f TfchaT Sa’T

4. Sensorimotor stage / Tad! U=y S{awyT

Correct Answer :-

« Formal operation stage / 3= Tfehar Sraw

22) Different parts of the body have / IRR & fafis %’R’ﬁ A ﬁ?ﬂ %’:

1. Sporadic development / fescqc fdhr O1 Hgl-dHal [dbr

2. Uniform development / 0T farg
3. Different rate of development / ICEARERACIREET
4. No development / ﬁ_sc famg ot

Correct Answer :-

« Different rate of development / faera & AftE

23) CANCELLED

"My test results show that | have an interest for sports but | do not have stamina
to play’; which of the following tests describes the above statement?/ Y 13Iff&‘l'UT
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gf¥orme gRITd § fob g3t Wl |/ i g afe 4y ury @eq & forg gge=ifaa
T & FafifEa § | 19 a1 1Heivr SRIed By BT quf BT 82

1. Aptitude Test/ G{f\ﬂ-@ﬁl TRleur

2. Skill test/ STRIE URT&TTT

3. Achievement test/ SUAT G107
4. Intelligence Test/ §fg TRI&TOT

Correct Answer :-

. Aptitude Test/ Sl TRI&0T

24) CANCELLED

Children often blame themselves for parental conflict. What Piagetian principle

explains this belief? / T 3R mm-ﬁm%aﬁang@%m@{ﬁatﬂ
Ad g 1 foars Rrgia 59 Iy &1 o s sd1 82

1. Egocentrism / @y
2. A-not-B error / Q—:Iﬁ—ﬁﬁ _a’[%
3. Conservation / GR&U

4. Animism / Gal&dG

Correct Answer :-

. Egocentrism / @y

25) CANCELLED

During middle childhood, when faced with failure, what meaning would
children attach to their experience? / H I & a'?l'"'[, Sld TP AT BT
HTHAT ST ISl 8, df T2 3[U+ SgHT A FT IHgi?

1. Shying away from activities in which they are likely to succeed. / Jprar Tt

Tfafafert ¥ gr ¥8d § S H 30 I%d 814 ®1 SHIET &l |

2. Conclude that trying new things is better. / g g foh '_-I_QF ISl D1 DI
PRI IEAR g |

3. Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / Ig sy fReTaAT fo srawmaran
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D] AT BT Thd g, 7 T T FRUFA B o S1fTH o3 a1 31y o 3§
TN T8t fopar o gebdT g |

4. Frustration and becoming more pessimistic about their abilities. / w G'ﬁT 3T

errrmal % et 7 it FRremare) 8 W B
Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / g py fATeT i s adrn
31 &I BT obdl 5, 7 fob U UM B ForR S1TRRTH =t 1T 318 el 9
TN T foam S e &

26) CANCELLED

According to Jean Piaget, the process which involves changing our existing

schemas in the light of new information is knownas . TrﬁT-T rars &
YR, agmﬁmﬁﬂiﬁrmm%mﬁgnﬁﬁwwﬂmaﬁ
JeaT A 8 & 9 ST S gl

1. Equilibration / d1&]

2. Assimilation / STHYTIP U]
3. Organization/ TG

4, Accommodation / 3Td[H

Correct Answer :-
« Accommodation / 3{TdT{
27) CANCELLED

If 20 dots are put along a straight line or curve, we see them together ignoring the gap
between them. This follows which of Gestalt’s principle of perceptual organization? / TI'%

20fdg &l T R AT ap Y@ F  IY-T1Y TG 1T § 3R H 3% oI & 3R B
ST P THATY 3T 8| g AT & ATURTHAS 16 & foe Rigid o1
ST T 872

1. Law of conﬁnuity/ﬁmﬁﬁm
2. Law of proximity / Rwed &1 aq
3. Law of closure /WWW

4. Law of similarity/WWﬁqﬁ
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Correct Answer :-

. Law of continuity / FRaRdT &1 Ha#

28) Teachers need to the needs of diverse group of student. / Rrerel @ ol &
fafae wwg & smazawarsit ) CaR CR G

1. Take care of / T TG
2. Orchestrate /WW
3. Handle / 3@ B

4. Deal with / THSdT B
Correct Answer :-

« Orchestrate /WW

29) Which of the following is most crucial for children to learn to live in a
society? / FFufeif@a & @ 919 o= &1 v A A 389 & fow Fea o
T Hgeayuf 82

1. To work on individual tasks / TG Td DI UR BT BT

2. To work collaboratively / HSH\I‘I “@f hTH h ]

3. To work for rewards /W%]%TQWW

4. To work in isolation / Tdhid B HTH B!

Correct Answer :-

« To work collaboratively / {-ISLI\I‘I Y HTH B

30) Which of the following can help the child to overcome failure in school? /
fFrafafad # I S19-91 95 3 faeneaa o Swadr &1 g7 @3- | Hag B
TPl g2

1. Asking them to Focus on next assessment / 3% 3T lj\c&-lior)ﬂ TR & digd B
DI HEAl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdI q

3fI® TR TR SR o & fore I8 URA ST 3R Mieied &l
3. Giving them some free time for leisure / E% 3R b ﬁ‘fq PS el 99 g a_*IT
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4, Changing their section/Class / RGC2 SIHIT/ D& P! Fea
Correct Answer :-

« Motivating and encouraging them to emphasize on efforts over ability / &HdT q

3 TR IR WIR 24 & fou 3% UG BT iR Uidiied Bl

Topic:- General English(L1GE)

1) Fillin the blank with the correct option from those given below:
Any econom-- will agree that entrepreneurs are crucial to the develop-- of every branch of industry.

1. --ist ... -ment

2. —ic ... —-ing
3. -y ...—-ing
4, --ical ... --mental

Correct Answer :-
e —-ist...--ment

2) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the world.

Public outery and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims, sexual
slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that condemns
millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive conditions
continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which one of the following is a conspicuously bad sign of discrimination against women?
1. All of the above

2. Genital mutilation only

3. Sexual slavery only

4. Punishment of rape victims only

Correct Answer :-

e All of the above
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3) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims, sexual
slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that condemns
millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive conditions
continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which crimes don't hit the headlines?
1. All of the above

2. Sexual slavery

3. Everyday drudgery and oppression

4, Female genital mutilation

Correct Answer :-

¢ Everyday drudgery and oppression

4) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims, sexual
slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that condemns
millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive conditions
continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

‘What is the main idea of the passage?

1. International Women's Day

2. The universal Declaration of Human Rights
3. The universal discrimination against women

4. A study on the rights of women

Correct Answer :-

e The universal discrimination against women

5) Read the passage carefully and answer the question given below:
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With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

What is the main thrust of government policies for health care for the people?
1. Involving developed countries

2. Well trained staff

3. Public hospitals

4, Public-private partnership

Correct Answer :-

e Public-private partnership

6) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratie right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

What is the main idea of the passage?
1. The prevalent diseases in India
2. Delivering healthcare to the people

3. Concerns about public health
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4, A study on poverty and health

Correct Answer :-

¢ Delivering healthcare to the people

7) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

In the passage, which of the following issues has not been addressed by the writer?
1. Economic status of a country

2. Literacy rate

3. Medic and paramedic staff

4. Population growth

Correct Answer :-

* Literacy rate

8) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher than
that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where there
are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?
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According to the passage, what are the pre-requisites for effective health care in the private
sector?

1. High investment, a motivated and well paid staff, and good regulations
2. Better preventive health
3. Empowerment of village hospitals

4. Foreign involvement

Correct Answer :-

¢ High investment, a motivated and well paid staff, and good regulations

9) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's
rights everywhere, we should not lose sight of the fact that widespread discrimination against
women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital
mutilation, punishment of rape victims, sexual slavery, and degrading treatment of all sorts.
But it is the “low intensity” discrimination, often sanctioned by law, that condemns millions
of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations,
such pervasive conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that
the rights of women to equality and non-discrimination are enshrined in a number of
international instruments, including the Universal Declaration of Human Rights, the U.N.
Charter and, most extensively, in the Convention on the Elimination of All Forms of
Discrimination against Women.

In the passage to fly below the international radar means:
1. An issue that catches public attention

2. An issue dealt at the international level

3. Something that fails to be noticed or is ignored

4, Something that is discussed on a national platform

Correct Answer :-

» Something that fails to be noticed or is ignored

Rewrite the following changing the active sentence to passive.

Let her take the camera.
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1. Take her to the camera.
2. The camera needs to be taken by her.
3. She has to take the camera.
4. Let the camera be taken by her.
| Co‘r‘re‘c‘t AhSWer -
 Let the camera be taken by her.

11) Read the sentence carefully and choose the option that has an error in it:

The stranger gave us much informations.
1. No error

2. much informations.

3. gave us

4. The stranger

Correct Answer :-

» No error

12) Fill in the blank with the correct option in the given sentence:
A note added to a completed letter is a --script.

1. post --

2. sub --

3. pre --

4, super --

Correct Answer :-

13) Choose the right tag:

)

You can solve this question,
1. can you not
2. didn't you

3. did you not
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4, can't you

Correct Answer :-

+ can't you

14) Choose the option that substitutes the given phrase appropriately.
A person who has a sophisticated charm

1. Debonair

2. Witty

3. Petite

4. Beau

Correct Answer :-

» Debonair

15) Change the given sentence into Indirect Speech:
He said to me, ‘How old are you?’

1. He asked me how old I was.

2. He asked me how old you are.

3. He said to me how old are you?

4, He said to me how old am I?

Correct Answer :-

o He asked me how old I was.

16) Choose the appropriate prepositions for the given sentence:

Results a new clinical trial has shown a new radiotherapy technique can treat cancer
patients just five sessions instead of the typical 37.

l.in..in

2. of ...on

3. from ...in

4, for ...on

Correct Answer :-

e from ..in
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17) Choose the appropriate antonym for the highlighted word in the given sentence.

Inventors often prefer to work in isolation.
1. solitude

2. confinement

3. group

4, liveliness

Corfect Anéwer =

e group

18) Choose the appropriate conjunctions for the given sentence.
theball _____ the bat belongs to me.

1. whether ... or

2. rather ... than

3. neither ... nor

4, as ... as

Correct Answer :-

« neither ... nor

19) Choose the appropriate option that rewrites the given sentence in its passive voice.
One must confront such problems.

1. Confrontations of such problems must be one.

2. Such problems must be confronted.

3. Such problem must be in confrontation.

4. Such problem must be confronted by one.

Correct Answer a=

« Such problems must be confronted.

20) Choose the appropriate tense to fill in the blanks in the given sentence:
I up at 6am every morning and for a walk.
1. get, went

2. get, go
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3. got, goes

4. got, went

Correct Answer :-

21) Choose the appropriate tense to fill in the blank in the given sentence:
The summer holidays are over and all schools

1. have reopen

2. have reopened

3. has reopened

4, had reopened

Correct Answer :-
« have reopened

22) Choose the appropriate synonym for the highlighted word in the given sentence.

My uncle, who is a park ranger, is well trained to handle a wide variety of emergencies.
1, fire fighter

2. owner of parks

3. police patroller in parks

4. keeper of parks

Correct Answer :-

» keeper of parks

23) Choose appropriate article for the given sentence:
____Ganges is the most fertile river

1. An

2. A

3. The

4, No article

Correct Answer :-
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24) Choose appropriate articles for the given sentence:

In 1929, Fleming wrote __ report of his laboratory experiments, presented it at ___ medical meeting,
and had it printed in ___ medical journals

1. no article required ... the ... a
2.a...a .. no article required
3. the ... a ...no article required

4, the ... the ... the

Correct Answer :-
e a..a..no article required

25) Choose an appropriate determiners for the given sentence.
They had so success with so effort.

1. little, little

2. many, few

3. much, little

4. few, much

Correct Answer :-

¢ much, little

26) Choose an appropriate modal for the given sentence:

WhenIwas achild,I___ spend hours together playing with my toys.
1. should

2. will

3. can

4. would

Correct Answer :-

+ would

27) Choose the most suitable pronoun for the given sentence:
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I went shopping for clothes yesterday, but I couldn’t find that I liked.
1. nothing

2. something

3. everything

4. anything

Correct Answer :-

» anything

28) Choose the option that best explains the highlighted expression:
She was thrilled to bits when I told her that she was offered the job.
1. very much tensed

2. very much annoyed

3. extremely pleased

4. broken to pieces

Correct Answer :-

* extremely pleased

29) Choose the right tag:

Mihika doesn't like to play cricket, ?
1. does she

2. doesn’t she

3. didn’t she

4, did she

Correct Answer :-

o does she

30) Which of the following options best combines the given sentences?

This is a huge unit. It employs 900 workers.
1. This is not only a huge unit but also it employs 900 workers.

2. This is a huge unit so only it employs 900 workers.
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3. This is such a huge unit that it employs 900 workers.

4. Being a huge unit, it that it employs 900 workers.

Correct Answer :-

« This is such a huge unit that it employs 900 workers.

Topic:- General Hindi(L2GH)

1) Hell WIS TS I BT e ¥

YW I eTET T ST, AT ¥g A Fieh |
fRfa-fema a1 § 4RI, Wi sefisT e

ot oifa aft W Huly, Fafy &1 uisi werl|
ST St i et afelt AR ga = uioft

FS PUC ST B (AHw, gR o 1fa & Srof 11
3fTeht i it o1 g1, W 5t = i

Hg FAR U F YHe Ifed war au G111
ST TR B UgPR -1 TP MU UY HT 3T 9133
- «3iTeht T &t oTa1 v ufda &1 31 g2

1. 991 & §1E el BT ST

2. 3ifdt & S1G B 991 I YA B ST

3. ife & 91G BT a8 I g S

4, 3ifeft & F1E BT au F 4T S

Correct Answer :-

o it & o1e @t auf F i S

2) Wdl HTS 3MMs I & 3rieh ¥

Y P 1] 9 IS, ARITIE T qieh 11
foefa-fem &Y § 4t ART, Mg sefisT e

Bt oifa afit = Huly, Fafa w1 uisT werl|
ST STt SR Tet areht frg g = uivhh

$S HUC BT B (Hwwr, g & 7ifa 5@ ot
SfTeht iy ot o1t g1, U9 &< == T

Fg PR U F YPHC Ifed war aa G111
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ST TR B U 1 YR T UY BT IR TqA184:
U - Y81 AR 947 P g B R PRS2

1. T 1 TG BT ST

2. Tl BT 37T

3. W Bd MR ST

4, 3Tt BT ST

Correct Answer :-

o I B WIS B S

3) Wl HTS 3 [ & St ¥

YA $1 TS Ad IS, AT G A qieht |
fefa-fr 35t § 4t RRTA, Hig sefteT e

Bt oifa uik = Huly, Fafy s1 uisi werli
ST Sifer iy e aredt e ga = uiofh

FS PUC ST 1 e, R &t i 519 |roft 11
iTeht i ot o1t g1, U9 &< 5= i E T

Fg FAR HIA F THe Ifed vt qa G111
IUe UEi< 61 Ugh - YD MU UY T 3<% Ja1sa:
WH- ‘HUC’ g BT faaiv 572

130T

2.3Y4

3. Aspue

4, 9d

Correct Answer :-

4) Tl YIS TS [ BI 3 X

Y o €1t A ST, AR I A @iet |
RRfa-fr 3t § 4t FARTR, T IefisT eI

ot a1 ult TR SHufy, Faft o1 Uisi werll
ST e B el afeh fReg g =1 uioft

TS PUC HTAT BT (e, 3R B 1fa &« Sroft 11
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iTeht i ot ot e, Uw 5t =i i

Fg HAR U & UwHe Ifea war aa <=1

ST TR B UgPpR -1 U ¢ U BT 301 9a33:
URH- <UTST B &7 3if g2

1. RV B

2. W& g &l

3, WR S

4. HIT ST

Correct Answer :-
o« NG JA A

5) Wl UTE 3TS [ P et ¥

YA P IX] TS ISHT, AT IE T aiefi 11
fRfa-form Y § i AR, Wi sefisT gen

ot oify uft = Hufy, Fafy &1 yist weri |
ST I SR Tt afelt g ga 1 utf

TS PUC ST BT FAHw, g $ i o1 |roit (|
3HTeft Wi S o1t T, 99 g8 o ofiAT)

Fg PAR U & UHC I a1 a0 Wil
SUe TR B UgHh A YD MU UY H SR Jarsa:
- TR ufed & Hmmr & ared 82

1. o/Erd

2. ISHI Y

3. WITH Y

4, |G SfiaT

Correct Answer :-

. R Sfad

6) Hal HTS 3ITS FTH @1 3 Y1

Y 1 eIl A ST, AR g A et |
fRfe-fom 31 § LR AR, wig seffsT e

ot a1 uft =R SHufy, Hafr 1 uist werl|
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ST ST 1Y et Sl g ga =1 uroft

T8 HUC BT I FHwr, g B fa s1a Soft 11
3fteft iy oIt oIt g, U 7<) o off T

H8 BAR U S THe I T aa ST 11

IUa TR Bl Ugdh A IS MU UY HT SR Jaisd:
W= - g1 F1 faad g2

1. 4%

2. S[9H

3. fpam

5

Correct Answer :-

7) Sdl UTS 31§ [ &t e ¥

Y S TS A ST, AR I A Fiefti |
fofa-fer Y & 4 AR, Wi wefteT qeT

et s ulk W HuR, Faft &1 yisTi weri |
ST ST 1Y et gl g ga T urofh

TS HUC DT BT (Hwwr, g B 7ifa e ot
3iTeft e it 5ret e, 9| &6 = ofi=T)

Fg BAR U & UFHe Sfed war aa STl
ST U B UgH e YR T UY HT IR TaA159:
T — R & arerd 82

1. YR

2. &

3. digT ot

4, YD

Correct Answer :-

8) Hdl WIS 3T A @I 3 X1
YA P 1T T IS, AT I8 T Fiefi 11

Page- 26



RfY-fr & & I AR, T aeifeT gen

Bt siv i W= HuR, Haftr &1 Uisi weri|

ST STfer Y et Sl fRg g 7 uioh

FS HUC ST B (AT, g o 1fa &/« Sroft 1|
TRt RS =) et ger, 99 58 o AT

Fg AR U & UPHe Sied WA ad @il

ST U= D1 UgH -9 U T UY HT 3T Ia153:
U - FAR & g1 91 el 72

1.9 g%

2. 3

3. SGH
4, JATAT

Correct Answer :-

9) Wdl UTS TS A &Y e X

Y T 1St A ST, AR I A Fiefti |
fofa-fera 6t & 4t AT, Wie wefist et

et s ult W Hulk, Haft &1 uisi weni |
ST St i e arel ARy ga T utoft

S HUC BT BT FHwr, g & 71 51a Soft 11
3iteft i Y o1t g1, 99 g8t =i+ 2Rt

Fg FAR U & UHe Ifea war aa@ T 11
I TR H1 UgHR -1d U T Y HT IR ga153:
WA- ifelt o1 watgardt 78 82

1. 3fer

2. qWH

3. gdsR

4. dhdid

Correct Answer :-
o 3
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10) dl UTS 3T 1 P 3rieht ¥

Y & 1St A ST, AR I A @iehti|
RRfa-fr 3t § 4t FRTR, T TdisT eI

Bt a1 uft TR SHufy, Faftr o1 uist well
SIRT SIf iY it arelt fARg ga = uieft

S HUC BT B (e, g & i sra ot
3iteft iy ot orer g1, U &< o o

Fg FAR U F UwHe Ifea v aa =11
ITIT URIIR B UgH 19 U T UY HT IR 4153
WRA- <SINT STfer | aTeqd 82

1. o T

2. QR BRAT

3. SR

4. ST

Correct Answer :-

11) Jdl YIS 3T I B Skt ¥

Y9 B T} T ST, AR ¥g 7 qigh |

fofa-fem Y & <t ARTAR, Hie aelfeT gerl

Bt oify uft = Huly, Fafy &1 uisT werl |

SR SIfa i Wt sl AR ga = uioft

F$ HUC ST B FApwr, gk Ft i &« st
STeht e =it o1t T, Uw &<t 5= o T

Fg AR U & UPhe Sied Wl ad STl

ST URII=T B UgPR -1d YD ¢ UY HT 30 Ia133:
- TR Uferaal § w2 forae! wewr &) wifia fearg?
19|

2.3

3, A1

4. YH

Correct Answer :-
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12) el UTS ST [ P SR X

Y B eIl A ST, AR g A Fieh i1

fRfa-fora Y § i AR, Wi aelisT gent

Bt s uft W= Hulk, Faftr &1 uisi weri|

ST STfer 1Y et Sl AR ga =1 uioh

§S PUC DA B (AHwT, §R o 1fa &9 Srof 11
3fTeht fi o ot g1, 99 g4 =i ofiATI

Fe PAR U & UHe Ifea Hara@ @i 1|

ST TR DI UgH 19 TR T Y FT IR 4133
- <Hell WIS STE F19 B 3ifeft ¥ A B 1 PR 82
1. ST SADR

2. TUF AADPR

3. 3U 3feihR

4. IUHT 3ABR

Correct Answer :-

o TUD AABR

13) el UTS SIS I B SHER X

Y T TS A ISTHT, AT X9 A Fiefti |

fofa-fera 6t & 4t RRTA, Wi wreileT qer!

2t i aik T Huly, Fafy &1 uist werl|

SIRT STfer SR et aTeht AR g =1 uioth

TS PUC BT B (A, §R & 71fd & Srof 1|
3iteft iy it w1t g1, U &< o1 ofi

Fg BAR U F UHe Ifea war aw =i 11

ST U B UGHR A IR T TY BT I7R TA153:
URH- FaR A 59 T A 749 & 3 F1 91d $a1 82
1.9d

2. 3fieft

3. ST
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4, HI41

Correct Answer :-
1]

14) Idl UTS 3T 9 P 3t ¥

YH P 1T T9 IS, AT e T aiefi 11

fRfa-fer 3t § 47t ARTA, wig acfteT e

Bt o1 ult TR Sufy, Faft o1 uist werl|

SIRT SIf fY it arelt fARg ga = uieft

TS BUC HIT &1 e, g $i i &« smoft |
SiTeht fiey &t ot T, Uw &<t 5= o=

Fg FAR U & UPHe Sied Wl ad STl

IR UL B UgHR A IR T UY BT IR TaA159:
UYE- g Farad 82

1. 9

2. %

3.7

4. W™

Correct Answer :-

15) Hdl WIS SIS 4 &1 ST ¥

Y 1 eIl Wdl SSTHT, AR g A qiddi |
Rfe-fra ot § < FRT, M seiisT e

Bt a1 ult TR Hufk, Haf s1 uist wetl|
SIRT STty ik et aredht frg ga =1 uiohh

TS BUC ST P (1, sR &1 i o7 o1
3fTeft i oY w1t geT, 99 g8 == AT

Fg FAR U & UHe Ifea waraw@ =i 1|
Iue U< o1 Ugeh -1 U MU UY HT 3R Ja133:
UR[- ‘DT T PT fAe=h wug?

1.48
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2. TRR
3. B
4. 918t

Correct Answer :-

16) T 1857 5. & fARIE AaT YYUd THT ITed FHER W AHT 11 U TG URTH &, @ 9 oot & =it
T A1 Ay T A o7 qF | I A7 g # fUar & vea # et Fff; R fagis gne v & a1 el A
TS g1 YT A 39 Al iR PRty 3t &Y oy #f e % foam| STt AuigsRY quis uramr gey &t
Wt TP IR sdiYd B a1 §1 FEGR A Wvor garbis F31 & a1 3RS &1 AfFF qa fage Ft iR T
gz & T AR @1 IevEd de o T R S9d 9gd A iy SEiel & g1y @il g9 9T Siiel
3 A9 F el A T e FT Hed U B ¢4 1 g foram e ga 3 o9 981 a1v e, 99 9wy
Ted & WS W T 3Id Frex TP SATHI WSl 81 75 | S/ @D U AUl DI a7 3meyd g,
Fife AT e & THI I§ dIDT a8 Dol (G@rs 7 &f N1 I DT 7 RS § W gy 3
TATITT Bl M SRAW T T4 {11 ITHT FEUNYUl 9 3R A WP JAfd B ot 39 R $8
T 3Tt

SR T B UgH -1 I 7Y UY BT SR IA134:
UH- Sreaas o1 o ghmm?

1. grgt

2. B 3G areil

3. AT
4, <4ig,

Correct Answer :-

o HAIY AN

17) I 1857 5. & fAKIEt a1 YYUd T ATed FHER H AHEd 811 U SF URH o, dF 9 Seat | SOt
TR AT B WY T A S TP | St A1 fogR H rar & wgd A gt ff; wR fasiw gua wA & 91g oS A
I3 €1 Hrar ¥ 39 At o FARwRTy 3@t o1 3ify H v = | I9eT Auiaes R quis urarr geu St
W} T aR gdlYd R a1 81 FEGR F vt gaarsis w31 F a1 sBisl o1 e g fage $1 Sk
gz & 91 W8T &1 IeuEd e form T R 39H 9gd digt iy SRiel & g1y @il §9d 91g SRSl
A AT F el F 7T WTed BT Hed U HR 31 o1 Heg foman e ga 3 w9 981 90 @ g, 39 9wy
Ued & RAS W TH 3 Frex I STHY Wa! 81 M5 | 3/ @R 30w AUl o1 937 3meyd g,
FNfP Ued e & THY 98 qIiereT agi wel fe@rs 7 € ft1 39 et A wie ° WS giev Siiw
JATITY B M RAF A 1417 {51 IHHT Feunyul g9 SR Uagd JTHY I 31 off 39 R 79
T 3T |

IR I B UGH -1 I 7T UY T 3R Id134:
TR — ATH: B7 9 fha1 a1 82

1. Wi Sfig

2. TP ugr
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3. T geft
4. IR gt

Correct Answer :-

. T Tl

18) T 1857 3. F fAsIEY AT YU AT Wgd YR W SRIBA g1 UR o U @, Y I wTed! | ot
O AT B A1y T @ o 9P | ¢t 941 fagR # fUrar & wee | et O R fasie gna e & 91g oisi A
TSI € par A 39 Al 3R FARuRTy 3t w1 o1fy # vy R | S9eT A9iae R quis uraTer geu &t
i T IR YT FR a1 81 FEGR H vy gearsis F F a1g 3PSl BT S g7 fage $1 iR
gz & 9T WTRe @1 IeweEd de form AT, R S9H agd A iy i & g1y @il 3ued are SRie
I AT F Ml A T 8T FT AGA U B &4 1 g foram S e ga 7 o9 ag1 av g, 99 9wy
TEd & WA W TP 3fd Fra IIIPT ATHT WS! 81 TS | I/ @B 30 ATl o1 a7 3med ga,
FP 78 Pe & THG I8 dIPT a8 Pel fe@rs 7 &f A1 3T Tiftrer A RS # WS g 3w
JAUT B M TAM TV 7471 FhaT1 BT FHUMYUl T 3R eUaad S QUi &t +ff 39 W 2
T 3Tt |

ST TR B UG A YR Y UY BT IR qd15:
TY - AT TTed &1 Toed 412

1. G8RAGR

2. IRIF It

3. PR

4. XHR

Correct Answer :-

19) ¥ 1857 3. & fAsigl =aT §Yyud AT HIgd HTHYR H 3B 511 U O YN &, dt d STedt § =it
T BT B I A A S g | &t A1 fagR F fUar & wga A et o W fagie e v & arg silwi A
TSI € ar A 39 Al SR ARy At %1 Sifr # vsr R | S9eT Aviae R quis uraTer geu &t
W T aR YT FR a1 81 FHEYR H fuvr geardis FA F a1g P BT NS g7 fage $1 iR mam
gz & 1 WTee @1 IewEd de o AT R S9H 954 Ui iy Riel & g1y @il 39 are SRiel
AT & Ml F 71 T8 BT Hgd HA R o1 1 ey fan 9 g 3 59 981 Y @, 39 99y
TEd & WIS A TP 3fid Fro TP ATHT WS! 81 TS | 3T @B 30w JTufal H1 727 3med g,
P 7w ge & THg I8 dIieT a8 Pel fe@rs 7 & A1 3T Tiftier A R § TS g S
TAUT B M TAM T 7471 fh a1 ITBT FIUMYUl T4 3R eUqad SEH: QUi o1 ff 39 W 2
T 3T |

SRIE T $Y UgH S D T Uy T ST qa1sd:
- UTYT0T §ed He- | a1l 872

1. URR P dHetell

2. TR &1 el

3. URR BT 3T
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4, QI ol

Correct Answer :-

o TRR BT HAl

20) T 1857 3. & fARIEY a1 YYyua AT AR FHER | G 8 R oF HIH &, @ F STeg! § Sust
TR AT B WY T A TGP | St A1 fargR H rar & wgd A e ff; R fasiw g wve & a1g oS A
a1 €1 prar A 39 e o FARwRTy A&t +1 3ify H v = | 39T A"k R quis urarr geu &t
W T aR gdYd R a1 81 FEYGR H vl gaaresis w31 F a1 $Bisl o1 e g fage o1 ok man
fagR o AT WIRe &1 IeTHed e o T, W I9H 9gd Uist g Sl & g1y @il 9 91 SiHl
A A9 & Ml A T W8T BT Agd U B ¢4 1 (e {1 e ga 7 w19 981 A1g @E, 39 90y
UEd & SRS T TP 3cdd GraX APl PR WSl 81 T3 | I @B S AATufal &1 a7 g g,
FifP AT e & THI I8 FIIPT a8l Dol (@l 7 & A1 I qferdr 7 RS § Wg g e
JATafY Bt M RAH A T1 511 IHST FIUNY! GG SR eUaa SEHY AU i ot U W 5B
4T 3t |

I TTRIR F USHR ) YD T UY BT IR Jd154:
WA- A9 BT 31 1 g1 82

1. IR BT GATID

2. Y1 o7 farielt

3. Y1 &I IH

4, AT BT [AH

Correct Answer :-

o YA HT S

21) I 1857 5. & fasig! Aar YU AT T YR | SAHA 19 UR oG YR &, T d STeat 6 St
T BT D 1Y A @ S D | gt J41 fogR § fUar o wea | gt O W fasiE g6 39 & 916 S A
31 g1 e 9 39 g ik ARty 3t &Y oy ¥ v R feam| SueT Auige Rt quie urwr ged &t
W} T aR gdlYd HR a1 81 FEYR F fuvr gaarsis F34 F a1 SISl o1 e g fage a1 Sk
fagR & AT W59 &1 AeTHEd e o T, W I9H 9gd Uist gy Siiell & g1y @il 9P q1g 3Gl
A 9 & TMal A 791 A8 BT Hed WA R oA BT 4y fpan e ga 3 59 981 a¥ @, 39 99y
Ted & RIHS W TP 3Icd Frex TP STHY Wl 81 5 | S/ @D 30 AU H1 787 3med g,
e Wed ger & JUY 9 DT 981 del femms 7 & 01 39 T 7 Rme & TS g 8w
JATUf Ht M A A T1 511 ITST FHUNY! GG SR eUaaqy STHT JATUrS Fi ot 3 R 55
T 3|

IR TR F USHR e YD T UY BT IR T84
TR - 3t #7 fag ® forads ary wadt o2

1, | & 1Y

2. a1 o

3, AT S 1Y

4, TSl & Y
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Correct Answer :-

. s Iy

22) T 1857 3. & fAgIg) a1 YUud AT A6 FHR | SRFd 5H W oF U &, af I Tegl § Sust
T A1 B 1Y T A 9D | A B gy | A & vga | el O W fagis g v & a1g oiie A
T3 31 YT A 39 e ok ARty 3t &Y o & e 7 feam| ST AuiTe R quie uTwT ged &t
ft T IR FdYd B a1 81 FER A v gmdis FI1 & 18 Ul &1 AfNE ga fage I ok mam
gz ® T WTRT @1 IewEd de foram AT W 39w 9gd dis iy SREiel & 1Y @il 39 ag SRiel
A A9 & Ml & 741 ITEd T A YT DR ¢4 o1 129 fpan e oa 3 59 981 a1t @, 39 999
TEd & WIS T T 3T Frex INPHT ATHY Wel gl 75 | IU @B U AU D1 a7 3med g,
Ffe Ued de & JUY 9 DT i bl feurs 9 & A1 39 aifasT 7 wme & e a3
AT B M AW A 1497 fman| 39S Feunyul g9 SR Seuaad JWHR A &1 ot 39 R 9
T ST |

ST TR B TS -1 IR 7T U T 30 I134:
U= - YU AT TS § | el T4 71 82

1. A1Rd

2. gyud

3. ST Y BIS 7!

4. -1

Correct Answer :-

23) 9 1857 §. & fAsIg AT YYUT 1 AIgd PR | G g4 TR Td URH @, a@f I SFeat o Sfut
T B B WY T A g | T A1 fagR F fUar & gea ® et ot W fAEe o w9 F arg e A
T3 3 YT A 39 Al iR FRwRTY 3t &Y o # v o1 faam| ST Auige R quis urwmr geg &t
Wt TP IR TAYT B g1 71 FEYR F v gersis F1 & a1 SRS &1 AT ga fage it iR
fSg® o 71T WTee @1 voHEd |e forT T, UR S9W 9gd el Iwiy SN & g1 @il 9@ a1 iUl
A 99 & Ml | 94T T8 FT Hgd YT R ¢4 &1 Fyd fFHan e oa 3 w9 981 av @@, 39 99y
Ugd & IR T TP 3fd GraxX AIDT DR WSl §1 T3 | I TTH U AU DI IS7 31 g,
Ffe Ued de & U 9 difaHT i bl fears 9 & A1 39 a1fasT 7 R d Ws gia S
FATIfT o1 M RAH | 947 a1 39S Heunyul §& SR SeUadd 3WHT Jfd &1 ot 39 R 0
T ST |

ST T B Ugeh - IR T U HT IR Tad134:
WA= AT ATed HITd 994 5 S0 |1y =78 o S urg?
L. for st

2. T Bl

3. Ual !

4, A BT

Correct Answer :-
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24) 91857 %. & fAIg AT YYUd AT AIET FHYR A TG g TR F URH 9, af I STeat o gt
TR B B Y T A W 9D | S A1 fagr F fUar & wed A et o W fagiw e v & arg il A
T 81 Fear A 39 Al iR FARuRTy 3t &Y i F v % feam| ST Auiwe Ry quiv urwmr ged &t
Wt TP IR sdlYd FR da1 71 FEGR F Wuor gardis F1 & a1 B! &1 Afe ga fage it e
gz & T WTRe @1 IeWEd e o AT R S9d 954 dist iy Siisl & g1y @il g9 a1g Siel
AT & Ml I AT 9189 BT Hgd URE R oA BT g f5an e g 3 99 981 aY @, 39 99y
TEd & WIS W TP I Frox INAPT SATHT WSl 81 T3 | I SWH U AU DI a7 3med g,
FfP Ued de & JUT 98 DT agi bl feums 7 & A1 39 It 7 Rme § TS gd S
FATIfa B M RAM | T4 fman1 SHST Heunyul §& SR SeUaad dWHY AT o1 ot 39 R 9
4T 3|

I T B UG A1 IR 7T U BT SR Id154:
WRH- U AT AT8d B A2

1. 3

2.9l

3. e

4, Ture

Correct Answer :-

25) T 1857 3. & fAsiEl a1 Yyua AT Wed FHER H SRPd 84 WR 9F HIH o, d) I Tegl § Srust
T AT D 1Y A S 9 | gl 341 fagR F fUar & wea | et o R f9sis gna e3a & a1g o A
31 g1 Fear A 39 g iR PRty 3t &Y Y ¥ v o feam| Su@T AuigeRY quis urwr gea &t
Wt TP IR sdYT FR a1 31 FEYR F Hivor gerhis $31 & a1 3RS BT Afe ga fage &R
gz & 1T WTRe @1 IewEd e form AT R S9d agd dist iy RISl & g1y @il g9 a1g SRiel
AT F Ml 941 T8 T Hegd YT R o4 &1 g fFan e aa 3 w9 981 av @E, 39 99y
TEd P RS W TP 3 ¥ ATeIdpT PR WSl 8l T3 | I TTHR 3T AUl H1 a7 et g,
P Ued den & JUT 9 dIDT a1 del femms 9 & A1 39 T 7 R § TS g S
TATIfY B M RAM W T47 51 ITST Heunyul T SR SUaad 3WHT AU &1 ot 39 R $5
41 3T |

SU TR B Ugd e TR 1T U HT IR I8
TR - qTfeIpT T yatfaar 781 82

1. gfgar
2. TSI
3. St

4. o1

Correct Answer :-
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26) I 1857 5. & fasil AT YYUd M1 WIEd FHER A SRIEGd §11 W od YFH &, a1 I et § o
TR AT B A1y A o /P | At A1 fogR # fUar & wge A w5t ff; R fagis gna av & a1g oSl A
IS1 € Prar A 39 e iR ARy 3t w1 oify # T = T | S9eT Avi=e R quie uraTr gey &t
W} TP IR YT FR a1 81 FEGR H vy gearsis FA F a1g 3PS BT NS g7 g 31 iR mam
gz & 9T WTRe @1 IewEd de foram AT, W 39w agd dis wfy SRie & g1y @l 3ued are SRiel
A AT F Ml F T e BT AGA U B &4 BT g v S ga 3 o9 a8 v g, 99 9wy
TEd & WA T TH 3d Jrex AP SATHT ol 8 5| IH @B U AU DI a7 3med g,
P 78 Fe & THG I8 dIPT a8 Pel fe@rs 7 &f A1 3T Tiferer F R § WS g 3
T H M TAM TV 7471 f5aT1 ST FHoMYul T 3R eUaad P QUi 31 +ff 39 W 2
4T 3Tt |

ST TR B Ugh - IS T UY HT IR qad13:
WA- S $T faaiy 2 32

1. 3MmafT

2. fauf

3. gl

4, gl

Correct Answer :-

27) 91857 %. & fagig AT YyUd 1 AIgd SHYR § G g TR 9 URH 1, O I Seat o Srat
T A1 B A1y T A S G| 0 A7 g W fUar & vea # et Fff; R fagie gua w1 & a1 s A
T3t g1 Pear 9 39 Al ik ARty 3t &Y oy #f v % feam| SueT Auige R quis urwmr geg &t
W TP IR SdYd HR a1 71 FEYR F Hivor gardhis F31 & a1 3RS &1 Afe ga fage it e
fagx o AT Ar8e &1 YeHed qe o an; uR 39W agd diel Jwiy SEiW & g1 @il 9% a1 iUl
A AT F Ml A T 8T BT Hgd U B 4 BT g a1 §fF e ga 7 o9 981 a9 wE, 99 9ug
TEd & UG T T 3 Jrex Tl STHT ol 8 5| I @A 30 AU HI 937 3meyd g,
FifP 7Ed Je P THT 98 SIeTdT agi Bel fe@rs 7 4 i 39 TIferdr 3 WATe # TS gl 3l
FAUfa H M A J 771 F5aT1 ST FIoMYUl T4 3R eUaad WP QUi 3t +ff 39 W 2
T 3Tt

ST T B UgH A0 T 7T UY T SR G134
TA- AUl & 3R HIF WSt 71 8 A2

1. fagr e

2. TR Y BIS gt

3. A1 916

4. SR BT

Correct Answer :-

o Al ET
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T 1857 3. & fagIgT AT YU T WTed FTHR | SRIGE B4 IR T N &, d@f F sTedt | U=t Tt
A1 Y 1Y T A o1 qb | S A1 fag A forar & wga # vedt ff; R fasis g A & arg s A aSt &
Hal A 39 it iR FARuRTy 3t 1 oif & vy v 3| It Auiaes R quis uraTer geg &t ot T
IR ST B a1 81 FHEYR § W0y garsis w31 & arg il &1 SfE gd fage o1 ok mam| fage &
AT ATed HT IASTHE e Foram 14T; IR 390 agd Uit gwiy sl & g1y @it | 39 91g sRisi A AU &
el A AT ATed BT 7ed U HR o1 31 (94 fFHar| e ga A o9 981 9id s, 39 999 7ed &
WS B TP id Frax D] MPHR W3l 8l T3 | I WP 36 ATufa o1 7871 3 gar, Fifew
HEd e & HY 98 1ot a8i Bel fe@rs 7 &t N1 39 F1ferer A e § TS g 3R JArufa &t
A S A A1 a7 | ST FHoNYUl G 3R eqaay S@H J-1ura &1 W 39 W 3 gt 3|

I TTRIR F USHR ) YD T UY BT IR ad153:
WRA- FIIHT = ATl & T Sirg foma?

1. Qi I &g BT

2. g1 A 9 oI BT

3. TTel §RYM BT

4, Tl = SR B

Correct Answer :-

o AT RIA BT

29) T 1857 5. & fIEE) AaT YYUT T B YR A RIPA 811 W &d YA T, df F STedt F =i
T A1 B Y T A T FP | S A1 forgy | e & Hea # e O W fAgiE o v & 916 SRS A
TS g YT A 39 Al ik FRuRTy 3t &Y Y #f v 2 | STt Auige i quis urwmr gey &t
Wt TP IR sdiYd B a1 §1 FEGR F Wuur gardis F31 & a1 3RS &1 AP ga fage ek T
gz & T AR @1 IevEd de o T R S9d 9gd diSt iy SEiel & g1y @il 39 aTg Siiel
A AT F Ml F T e BT HgA U B ¢4 BT g a1 & ga 3 99 ag1 v o, 39 99y
Ugd & GG H T 3cdd Grax aIad] H ol 8l T3 I @D SIS AU I TST ST gam,
Fiifes Agd e & GHT 98 DT d5i el e@rs A 4 A1 I FIferpr 4 e d W §i? Sl
TATITT B! M SRAH A G417 fHaT| ITST FHUNYUT & 3R AUaad WD JAfd Bt ot 39 R $8
T 3Tt

ST TN H UGHR -1 I 7Y UY HT SR Id154:
W - FHYR W01 gaThis & a1 3 FHgl e A2
1. 7Y

2. BN

3, fagR
4. ARG

Correct Answer :-

30) 1857 5. & fAKIE AT YU AT ATed SR A G g1 WR 9 YR T, a@f I Seat o ot
T A B WY T A o 9P| S A1 g § e F g d Al Fff; W fomie v e F 9e SRei A
TS} §) YT A 39 Al iR FRuRTy 3t @Y oYy F v 2 faam| ST Auige Ry quis uraTr gey &t
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i TP IR TAYT B a1 71 SR F 1wl geardbis F31 & a1 3Bi6l &1 AfFS ga fage it ok T
gz ® T TR @1 IevEd o o AT R I9W 9gd digt 9wy SNl & g1y @il 39 aTg Siel
A A & el A 7 A8 BT Hgd WA HR o1 BT gy fan A« g 3 59 981 Y @S, 39 99y
Ugd & RS H TP 3cdd Grax IIdd] H Wl 8l T3 IW @D 31 AU B TST meyd g,
Fiifd Tgd e & HY 98 dIiDT a8 Dl fe@rs A ¢ Al U FIfidT A RAIG | W giax 3
JAUfa B M TAM J 7471 fhan1 ST FHongul 4 3R euaad ¢ Aafd ot ft 39 W 0
T 3T |

SUY TR $ UGHR A1 T Y UY HT 37X Id134:

7% - fagis BT Uw sy A 32

1. pis

2. g

3. §ad

4, Hifd

Correct Answer :-

Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of
astronomy, biology, physics, earth science, etc. is:

MRS & 1Y fagE 3t A A a=a &) vaw S B v T Rigor fafy, S
o5 @ fagme, shta fagm, ifaet, gt fagma enfe, R &:

1. Science Exhibitions / mﬁm
2. Science Games/faSI'I:f@Ff

3. Science Fairs / Ta9= Ol

4. Science Songs /ﬁ?ﬂ?"’ﬂﬁ

Correct Answer :-

« Science Songs / fag= ia

2) Who gave the model of “Cone of Experience”? /
"I TP THIUIRG" o1 Aisd foram faam ur
1. Burton / §¢

2. James S. Kinder / SIFg Tq. fhax

3. Edgar Dale / USTIR od
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4, Carter V. Good / TcR 4, s

Correct Answer :-

« Edgar Dale / USTIR od

3) Developmental Psychology is studied by other scientists, Except for:/

fampraTd® AT e &) Sie®: 3 auT_ie) gRT sreag- faar ST 8:
1. Anthropologists / AT fagT (GUUIGAIORE)

2. Biologists/ Si1d faS (SRTEITORC)

3. Physicians / Hife fagT (fpforeram)

4. Physicists / Hifaa fag (ffoiRmae)

Correct Answer :-

« Physicists / Hifaew ﬁﬁf mm

4) What is one method of transferring information from short term to long term memory? /

TY-PTA A Sre-PHrei T Wfa & a1 RGN H1 &1 TP ff ®m g2
1. Rehearsal / Al

2. Decaying / UdH

3. Delaying / fddedn

4. Chunking / =TT

Correct Answer :-

+ Rehearsal / IE'TW

5) What is the smallest unit of speech known as? /

YIYUT B} FaA DI SHTS D1 T BT STl 82
1. Morpheme / T0H (A 1)

2. Word / RIsq (?de)

3. Syntax / ITHI-fa=arT (Rica)

4. Phoneme / XG1H (ThIH)

Correct Answer :-

« Phoneme / WHH (BIHRT)
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6) Permanent hardness of water is due to: /

W &1 R FS Rdl $T HFRUTE:

1. CaCO3
2. Mg(NO3 )2
3. MgCIZ

4, N32CO3

Correct Answer :-

] MgC12

7) Three forces 20N, 30N and 50N are acting on a body placed on the horizontal plane. Here,
the 20N and 50N are acting towards left and 30N is acting in the opposite direction. Now the
resultant force acting on the body is: /

U &fas IHdd TR T TP FPTT UR 20N, 30N 3R 50N & 19 9 ed &1 20 N 3R 50
N,W%ﬁ?ﬁ"'ﬁ?&ﬁ?SONmmﬁﬁTﬁ?I e R @ F arer ufvom go

1. 40N towards right / 1Y 3R 40 N
2. 40N towards left / aTQ 3R 40 N
3. 40N in the downward direction / =IId @1 3R 40 N

4. 100N towards left / STT 3R 100 N

Correct Answer :-

« 40N towards left / ST 3R 40 N

8) Ultra microscope is set up based on which property of colloids. /

ST ATSHITD Y DIAgs & f6a U & YR W RTRI foar g1
1. Brownian movement / ST3 (=9 TTidl

2. Tyndall effect / f¢8 U@

3. Electrophoresis / aquCbUl N ENE

4, Coagulation / STHId

Correct Answer :-

« Tyndall effect / feed yua
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9) is the only mode of heat transfer which doesn’t require a material medium. /

5 THHTH SHCHT R0 BT a3t g foras araft #1ead &1 sma=asdr 181 gidt
|

1. Convection / Hdg-
2. Heat pumping / SB[ qff
3. Conduction / dTeld
4, Radiation / fafesRur

Correct Answer :-

« Radiation / fafaor

10) If the amplitude of vibration is increased to three times of its initial value, then the
loudness of sound will: /

gfe HUL & AT B 3D URTUS Fed & o1+ 1 aob gl fear oIrdn g, af eafy &1
qadr giil:

1. be doubled / &I T

2. be six times of its original value / 370 ARdfd® HH &I ST :
3. become three times of its original value / 30 ARdfdd M BT o< T[T
4, become nine times of its original value/ 30 AR A T A1 AT

Correct Answer :-

- become nine times of its original value/ 3= IRATIEH A BT A AT

11) In an electrical cell , the energy is stored as:

T faggd Ao &, Soif &1 39 0 § T fobar s &:
1, Charges / 3TARIf

2. Heat energy / S ®HI Soll

3. Chemical energy / IAHE ol

4. Nuclear energy / UXHIU] SHoll

Correct Answer :-

« Chemical energy / IS Sl
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12) Select the statement which is not true: /

U HYF BT I D Sl U 51 o:

1. Sound travels faster in metal than in air. / &I, d1g DI 3TUET 4rg Aol o I R B
2. Sound can be easily propagated through vacuum. /

fRata & Arem ¥ @ Mt T vl Pt S Jhal g

3. Sound can be produced by the vibrating air column. / €qi, HU gl Y §RT STGd fohdr S
NEIE

4, Sound can be propagated through any medium. / fopat +ff A1emy § ey S 9
TR 1 S Feball 5|

Correct Answer :-

« Sound can be easily propagated through vacuum. /

ata & aremm O @ S A Ui Pt S Yepell B

13) Select the pair of forces which are non-contact force: /

3 TEl & T BT TG B, Ol SYRY (-l de) 99 :

1. Magnetic force and electrostatic force / W 9 3R RR aa\'ﬂﬁ EN}
2. Muscular force and magnetic force / Ot 57 3R ﬂaﬁn ocl

3. Muscular force and frictional force / UM §d 3R TYUr §&

4. Electrostatic force and frictional force /fRIR a?fﬂ?faﬁ 3R gefuT 5@

Correct Answer :-

« Magnetic force and electrostatic force / ﬂaﬁu 0 3R RRR a?fﬁ?f ocl

14) In which one of the following cases will Common salt dissolve in water most readily? /

frafafaa # 3 foa fRfa 3 a1y 99e ur=l § 999 avadar 9 faafa g smem?
1. 10gm of Ice at 0°C / 0° TVfRTI WR 10 U9 %

2. 10 ml of water at 90°C / 90 TRY TR 10 fAeliellex o
3. 10 ml of water at room temperature / HIH dUHTT U 10 forefieitex ot
4. 10 ml of Ice cold water / ST 38 St T 10 fHefiefiex

Correct Answer :-

« 10 ml of water at 90°C / 90° IfRTT TR 10 e &d
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15) Alternating current is not used in: /

UTad! YRT BT IUANT SHH 81 fobaT SIrar &
1. Transformers / m

2. Electric heaters / w GIRED

3. Electric geysers / faggd TR

4, Electro plating / ﬁ’d’ﬂ?‘f IR

Correct Answer :-

« Electro plating / [dggd &Iu=

16) The process of conversion of water vapour into liquid is called: /
SId TS & &d § S YRl B UishaT Hgar o:

1. Sublimation / 3>eaUTa

2. Condensation / U=

3. Melting / 7T

4, Fusion / IR0

Correct Answer :-

« Condensation / 9=

17) During rainy season the rain water goes deep down into the earth passing through
different layers of soil.

Which one of the following processes does not occur during rain water seepage into the soil? /

awg%ﬁwﬁmmwﬁ@%ﬁrww&m@q@aﬁ%ﬂiﬁw
EIGI

a1ie=1 & urit & gt ® e & = FPafafea & & o= < uftear =5t afea gidi 82
1. Filtration / i

2. Sedimentation / 3{dYIG

3. Distillation / 3{THd

4. Decantation / FFRAROT

Correct Answer :-
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« Distillation / STHd

18) The commercial unit of energy is expressed in terms of: /
il 1 IS P13 39 UGH H S P11t &:

1. Nm

2. kW

3. Joule

4, kWh

Correct Answer :-

« kWh

19) Which of the following surfaces absorbs the least amount of heat energy when exposed to
heat radiation? /

frafefad & 9 &9 I Jdag o1 fafeur & Tudh & [ IR &H 4 BH ST Sl B
STINT Pl 82

1. Surface coated with white paint / e Ue I wfud ¥ag

2. Surface coated with red paint / ¢Il¢l te 3 dfud Hde

3. Surface coated with black paint / HId Ue ¥ dfud dg

4, Surface coated with dark green paint / TeX 8¢ Ue 3 oftud Ids

Correct Answer :-

« Surface coated with white paint / ﬂ'eb_c{ Ue 9 aftd gde

20) Which of the following combinations are most suitable for composite fish culture? /

ffSra vegures & e fFafafea & 3 o a1 Sdae aed Suged 82
1. Middle zone feeders and bottom feeders / H& \_rh_"f Hie Td §cH Bis?

2. Surface feeders only / aDOIL*I Hdo By

3. Surface feeders,middle zone feeders and bottom feeders / Tdg WIS, T S B8
Td §icq Bie?

4. Surface feeders and bottom feeders / ddg hieY Td dicH i

Correct Answer :-
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« Surface feeders,middle zone feeders and bottom feeders / ddg Lbnlse, T S Ble

Td dicH Bie

21) Which of the following natural phenomena cannot be predicted accurately? /

fFrafafaa ¥ @ fow urpfae ger @1 adie yfasamh 78 &t o g@dt 32
1. Lightning / fora!

2. Thunderstorm / ST¢-thT

3. Earthquakes / Y H]

4, Cyclones / debdld

Correct Answer :-

« Earthquakes / ]

22) Which of the following is not an animal protein? /

Frafafea @ w1 o sfila Wid 78 32
1. Wool / %

2. Silk / =

3. Milk / Y

4, Pulses / qId

Correct Answer :-

» Pulses /ald

23) Which of the following is not related to sound? /
fFafifea & 9 o= a1 wf 3 H&fta 81 82

1. Frequency / &nqﬁr
2. Microphone / W‘Eﬁq

3. Loud speaker / <3S TR
4, Myopia / o

Correct Answer :-

» Myopia/ Ao
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24) Which is not a major advantage of Crop Rotation? /
fFrafafee 3 S 71 v Srad &1 g a1 T8 872

1. Additional use of fertilizers / SaRD| BT ATANaT SUANT

2. Conservation of soil productivity / Hal STl T TI&UT
3. Weed control / ERUAAR AIF01

4. Increased yield / UG | Q@

Correct Answer :-

« Additional use of fertilizers / Sa%eb| T IR START

25) Choose the incorrect physical property of non-metals. /
YT & SrRIT Wi 701 BT T B

1. Generally they have low density. / HTHI-d: Ydcd HH gIar %I
2. They are not sonorous. / qTH :I'epf Eﬁﬁ %'I

3. They are brittle in nature. / Wﬁf H 'H'{R Eﬁﬁ %I

4, They have high tensile strength. / 3= ddT &HdT grat %I

Correct Answer :-

« They have high tensile strength. / 3T d=ddl &HdI gl gl

26) Choose the incorrect statement among the following: /

e 9 @ ergfue aoae &1 999 B

1. Potassium is always stored in water. / th?:ﬁm:r A Bﬁ’-‘fﬂ Ut § TGT ST %l

2. Potassium can be cut easily with a knife. / TICIRITH TP 1 F SR ¥ HIeT S Al & |
3. Potassium reacts with dilute acids to produce hydrogen gas. /

BIESIoH T BT TG B P foT8 TR o 3 & T1Y AT Hal g

4, Potassium when burnt in oxygen forms its oxide. /

SRS B TR 9IF IR Ui RIT &7 3ifaass s a2 |
Correct Answer :-

« Potassium is always stored in water. / Uiy ol SR U H T STt %l
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When a spring is stretched by 2 cm, it stores 100J of energy. If it is stretched further by 2 cm,
then the stored energy will be increased by: /

STd Ueh BT B 2 T T arfera forar Sirar 8, @ 39 1000 Seit 9Ufed giar g, afe 59
2 It 3R iftres arfera b rar 8, 99 Tudia seif | fpa-t 9f gt

1. 400J
2. 100J
3.300J
4,200J

Correct Answer :-

« 300J

28) Out of the following options, select the correct relation for the electric power. /

frafufad fawedl & 9, fagga e & e a3t ddy &1 997 ®:<1

1.P=V/R2
2.P=V%R
3.P=1R2
4.P=1*R

Correct Answer :-
« P=V?R

29) An olfactory indicator among the following is: /
fayrdare augEs &
1. Phenolphthalein / PRI EINE]

2. Soap / HIg
3. Clove /F‘ﬁ"T

4, Turmeric / 8ﬁ|

Correct Answer :-

« Clove/ Fﬁ’T

30) The SI unit for measurement of length is: /
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TS Pt AT & T SI 3TS 8:
1. Millimeter / feiiHieY

2. Kilometer / fh@Hex

3. Centimeter / Y THICR

4. Meter / Hex

Correct Answer :-

« Meter / HIcX

31) If a student is able to make predictions in an experiment by making logical
connections using correct evidences, he/she is capable of: /

ofe o1 faendf gt el 1 I e diffe Tay aTeR fasdt i & qd-gmen o | Her
%, a’fa‘sﬁuﬁ'\q&m%:

1. Drawing conclusions / 55y @
2. Observation / 3(ATHT
3. Experimentation / 9aNT

4. Providing explanation / TJSIHUI UG &=l

Correct Answer :-

. Drawing conclusions / 5B feTaT

32) What is mineral o0il? /

e a1 =1 82

1. A mixture of glycolipids / Wﬁfﬁg BT Th fhgor

2. A mixture of hydrocarbons / Eﬁsﬁmﬁ ARG g

3. A mixture of lipids and minerals / faftst ok @l & T o
4. A mixture of water and oil / Tt GﬁT qd BT Udh fargor

Correct Answer :-

« A mixture of hydrocarbons / E@Wﬁ DTSR g

33) Find the time taken by the sound to travel through a distance of 5 km, if its
frequency is 2.5 kHz and the wave length is 20 cm. /

af taf #1 emgfxy 2.5 fraisds § ik aRvGe 20 Il & df 3 5 fredt &Y g o=
o= Tw g &, 1 B2
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1.2.55/2.59hg
2.20s /20 Vg
3.10s/ 10 Ybs
4. 155/ 15 s

Correct Answer :-

. 10s/10 VP

34) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

14 & us 3R sHS! gl 1 IUURT SaHs/Ue & Idre A fpar orar 81 s9d
IUAH il B TS A BI IJp a1 ded DI UgATH B |

1. Carboxylic acid / PRI 3
2. Alkali / 3fcehail

3. Mild acid / gedbl &

4, Salts / <IdUl

Correct Answer :-

. Alkali/ 3fchal

35) CANCELLED

is not an organic acid. /

T HPIa(-Th 3 g1 6|
1. Oxalic acid / 3ffaRITeIdh S
2. Acetic acid / W ST
3. Formic acid / BITH® 3
4. Carbonic acid / BIEd 3

Correct Answer :-

« Carbonic acid / ao‘rq“ﬁw HKT

36) CANCELLED

If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions of ‘X’ and ‘Y’ on the
relation
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F=X(mv) /(1 +Y) are respectively /

g‘waﬁ%, ‘m’ GHHT & 3R v’ P E, dl F = X(mv) P I H x° 3R ‘v’ & 3mard

L. T, T!

2.LT, LT

3. T'!, dimensionless / T™, AMeH
4. dimensionless, T / @ﬂ'qmﬁ:f, T
Corréct Ansv.ver.:‘- -

« T, dimensionless / T'!, &num%ﬁ

37) CANCELLED

Identify the correct set of isotones among the following options. /

fFrufafad e A 3 gawnfe & 3fd e &1 uga@ o1

12N and 80

1.
1a 181
50 and *30
2.
40 40
soCa and 15K
3.
40 4 L0
sedr and 15K
4,

Correct Answer :-
1587 7 16
2N and g0

38) CANCELLED
Which of the following statement is true: /

T AP T FIT T :

1. Thrust is the force acting normally on a surface. / ??qu gdg U HMHMg =4 T HTH B Tl
TABI

2. Pressure is directly proportional to the area. / GdId, TR & T HHW %I
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3. As thrust increases pressure decreases. / S-S &Y doedl § Gd1d HH Bl Sl 6

4. Pressure is inversely proportional to force applied. / GaTd, dF] d & fausid Ui
gl

Correct Answer :-

« Thrust is the force acting normally on a surface. / &7 T Idg R R &Y I B HI a1dl
CEE]

39) CANCELLED

A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
T 59 72 feet /et 91 afa & 9 W6 &, 39! ufa o @t/ o aivafda =

1. 10m/s / 10 H/&

2.720m/s / 72 HI/A

3. 30m/s / 30 HI/A

4. 20m/s / 20 HI/"

Correct Answer :-

e 20m/s/ 20 Iﬁ@

40) CANCELLED

Which one of the organisms mentioned below is a herbivore ?/
= gfvfa sfial # F F19 v WHERY 82

1. Shark / ST

2. Peacock / AR

3. Frog / e

4, Mouse / 9gl

Correct Answer :-

« Mouse / TJgI

41) CANCELLED

Which one of the following factors will change the magnitude of Equilibrium constant for
the following reaction?

N2(g) + 3Hz(g) = 2NH3z(g) /
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m@ﬁﬁﬁwmeWW%mwﬁw% gfRATor Hi
9o T2

N2(g) + 3Hz(g) = 2NH3z(g)

1. Use of finely powdered Iron catalyst / IRIP El;Uf C’?IS SARD BT ITAN

2. Decrease in the pressure of Np(qy / No(g) & a9 U HH

3. Increase in Temperature of the reaction / 3ffferar o A= | Q@'

4, Concentration of Reactants / \’rff"l\-lcbl-lr Ob\I. ﬁ {-Iis‘u‘ll

Correct Answer :-

+ Increase in Temperature of the reaction / 3{ffehar & aro | Q@'

42) Which of the following is not a part of the 5E constructivist model of teaching-
learning? /

Frafafaa & @ $19 Rigror-sifirm & 5 WReAmard) aisa &1 e 76 82
1. Engage / T+ (o)

2. Elaborate /fa%qd ( Tdllsic)

3. Enhance / S8R ( T Y)

4, Explain / 90 (TEwH)

Correct Answer :-

« Enhance /é%:a“\f ( Q’i%ﬂ)

43) Which of the following is not a characteristic of a good textbook? /
Frafafea & @ o9 @ v st ureagas @ faxivar =8t 82

1. It may not cover the entire syllabus of one stage. / Ug Tdh TRU] & U:\’ UTSIhH b Tieferd :I@
P ol gl

2. It is a finished product for transferring the knowledge. / Jg T G ASIRRY & ]%‘I'Q Uh '?‘P:I'IT
I 3|

3. It should not be self-contained. / I8 TgHT 971 31T giferd :Ié)fa_*ﬁ EIT%UI
4. Tt may not be necessarily for a whole year. / I8 T& QX 98 & forg eaxge® &l 8 Il g1

Correct Answer :-

« Itis a finished product for transferring the knowledge. / Ug 1 & BXIARUT o fauus GRIN
IUTE B
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44) Which of the following is an objective for teaching students of higher primary level
(v, VI, VII)? /

I WA R (V, VI, VII) & 31 & Rieor & o Faff@a i siaasexa 2
1. Development of understanding of laws, concepts and principles /
o, sraurumst SR Rigidl &1 gvg &1 faswr|
2. Development of power of reasoning / I B! Ufad &1 faw|
3. Development of practical outlook / I CHIRC AR EEANEANEERE]

4., Development of interest in reading scientific literature / CRIEED it %71 T =g @1 f[der |

Correct Answer :-

« Development of power of reasoning / eI RIESKEARCEan]

45) An example of merry-go-round can be used to explain which of the following
scientific concepts to the students? /

AH-M-I5s (KSiam) P17 I¢ev FFRufaf@d & F #19 I afe saurRon &) 3E & 99z &
fore sxwTa faT ST g@dr 82

1. Oscillatory motion / GICIRI i
2. Rotation of Earth / qw“r 2l ‘{Uﬁ

3. Gravity / {[¥scd
4. Centripetal force / %3”‘”’&@ EN}

Correct Answer :-

« Centripetal force / %allmﬂﬁ dq

46) Clinical thermometer is designed to measure the: /

Agifre yaiiiey @1 fd A & forg fEwmg fovar man §:

1. Temperature of the chemicals used in the clinic / Feiit-iep o S dd ] BT draqH

2. Temperature outside the clinic/ FAID &H dlgX dyH-
3. Temperature inside the clinic / AN & 3faX dTgHH
4, Temperature of the human body / HId YRR HT dIdH

Correct Answer :-

« Temperature of the human body / HIHd YRR BT dAGHH

Page- 53



47) What is the duration of kharif crops? /
I Bl o af w82

1. June to October / ST ¥ S{dgaR

2. March to September / A 3 RydsR

3. October to March / 3faga’ T A

4. November to April / TdeR ¥ 3

Correct Answer :-

« June to October / \_rff@ Sfagalk

48) An object completes 120 revolutions in 30 seconds along a circular path.
The ratio of its frequency to its period is: /

TS a3 U URTT UY R 30 AHs A 120 URsHHUN oI [RT Rl 31 3 3afy & forw
TS TR BT 3T ¢

1. 1:4
2.1:2
3. 16:1
4. 4:1

Correct Answer :-

. 16:1

49) The force acting on the bullet when it moves through the air towards a
target is: /

gde UR T 91T 9, 919 89T 9§ 31 ®1 3R 9&dT ¢ a1 987 3:
1. Force due to the gun/E’W%a‘TR'UTW

2. Gravitational force alone / 3fohd] [>cdlch yur S

3. Gravitational force and frictional force. / WETUT I 3R TN 9 |
4. Frictional force alone / 3l TYUT &

Correct Answer :-

. Gravitational force and frictional force. / To@IHYU] g 3R TYU[ § |

50) Expanding and cooling of hot air results in: /
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T g1 7 AR o <fae e & 9§ fraer uRvom gar @:
1. Condensation / F&-

2. Vapourisation / dTSfidR0r

3. Hail storm / SATayuT

4, Precipitation / IR

Correct Answer :-

« Condensation / g

51) The radiations absorbed by ozone are: /
SIS GRT Sra=mfy fafeor &:

1. Ultraviolet rays / RIS faRol

2. Infra red rays / S{dRdd fopvof

3. Gamma rays / THI foprf

4, X-rays / Q?E[—B\f

Correct Answer :-

« Ultraviolet rays / TRISTHT fop=of

52) A teacher explains that during experiments, one can verify results using more than one
method. This shows an understanding of which attribute of scientific temper? /

T 1/ saran 3 & 6 T & SR, U A oiftrer faftral o1 SuaivT 3 ufvormy
P TaTfug fFar ST Hodr 8 | S99 dFIfAe THTT &1 S It faivdar &1 9y giar g2

1. Critical thinking / 7T+ fefd=

2. Open-mindedness / PRURIREG]I

3. Respect for evidence / HI&I & ]%‘FI HHA
4, Logical thinking / difde ffa

Correct Answer :~-

« Critical thinking / T8 fefid™

53) For a person suffering from hypermetropia, the image of the object is
formed: /

e 3w | fifea ue aafea & fore axg &1 ufafss S s 8:
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1. Behind the retina / (T & Uiy

2. In front of the retina / X[ & T
3. On the retina / YCAT TR

4, On the eye lens / EERRRY

Correct Answer :-

« Behind the retina / 3¢ & Ui

54) Glucose drip is usually given to a physically weak patient because: /
TP f3U AR R IRINE U A FHeR 98w & fear srar § wife:

1. He is not drinking enough water. / dg T ST ERIERIEGI %I

2. Dehydration can be prevented. / 3T fASIcRUT &1 AhT ST HHdT B |

3. It readily gets absorbed for energy. / I8 TR T SHoll & AT AT 81 91w B

4. He gets a balanced diet. / 98 399 Tqferd 3MER UTdT 5

Correct Answer :-

- It readily gets absorbed for energy. / Ug IXddIl q 3ol & o sra=nfyd g Simar %‘I

55) If the angle of incidence in the first medium is equal to the angle of
refraction in the second medium, then the absolute refractive index of the
medium is: /

gfe ugd ATeny H SMUfad HIvT gax HIeAH | S(Uad=T & HI0 & U g, d) WIeaH &1
quf Sad® gahi® 3:

1.1.33
2. 1.1
3. 1.0

4. 1.5

Correct Answer :-

56) Which one of the substances mentioned below is not responsible for the
depletion of ozone layer? /

9 feE e yeryt & | #1991 e WRd & 39 & fore Icrer! A8 872
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1. Carbon tetra chloride / FTe- é@’lﬂ?ﬁ?‘lﬂg
2. Ammonia / 3T

3. Aerosols / Qil%il?l
4, Chlorofluoro carbons / Tﬂﬁqﬁﬁﬁﬁﬁﬁﬁ

Correct Answer :-

. Ammonia / 3HIFAT

57) Gallinaceous domsticated fowl,bred and raised specifically for meat
production is: /

Tepape-uatl urad ueft, v ot fafkiy ¥ U uiw Sdre & fore uret s 3:
1. Rhode Island / IS 3METS

2. Turkey / U U&fl

3. Broilers / STSeR

4, Ducks / &I

Correct Answer :-

« Broilers/ a’UIST'R

58) Unambiguous instructions are always required for: /

e & ferg g g Frd=r 3ima=ae gid €

1. Long Answer type questions /3rd SR 9y

2. Supply type objective questions / JUT (\HT{%) UPR &b ?ﬂ@ﬁ@ Uy
3. Selection type objective questions / Y UhR & aﬁﬁg A

4, Short Answer type questions / €Y IR TY

Correct Answer :-

« Selection type objective questions / I UDIX & d%gﬁg K]

59) Fishes live in water. It is their natural Use the right biological term. /

Toferdi, U A 3l § 1 TE SABTUIHIad 81 SUYT AP g BT TN B |
1. Home / Y}

2. Habitat / STATYH
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3. Environment / dIdldRU[
4, living space / g BRI

Correct Answer :-

« Habitat / 3TdTY

60) Which of the following topics clearly demonstrates the interdisciplinary

nature of science? / Fufead & ¥ @19 a1 faug Wy U & oy &1 sRfowg®
TP P GRITdT 52

1. Colloids / BITISS

2. Evolution / 3o&d

3. Programming / PG @ﬂ’lﬁlﬂ)
4, Astronomy / LCHINAGEI]

Correct Answer :-

« Astronomy / LCUIRAGE]
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